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AQA A2 Chemistry 

6 Aromatic compounds

1
(a)
A to B: CH3COCl and AlCl3 [1]; or FeCl3


B to C: NaBH4 [1]


C to D: HCOOH and concentrated H2SO4 [1]

(b)
Attack by the hydride ion can take place either side of the planar carbonyl group [1]; random attack gives equal amounts of the two different enantiomers [1]

(c)
Acidified potassium dichromate(vi) [1]; or any appropriate oxidising agent


(d)
The mechanism is Friedel​–Crafts acylation, as outlined below.
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Making the electrophile
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The substitution step

2
(a)
C8H9NO [1]

(b)
Reduction [1]

(c)
(i)
Concentrated nitric(v) acid and concentrated sulfuric(vi) acid, maximum temperature of 50°C [1]


(ii)
CH3COCl or (CH3COO)2O [1]

(d)
C6H6 + HNO3 ( C6H5NO2 + H2O [1]

(e)
(i)
Electrophilic substitution [1]


(ii)
Nucleophilic addition–elimination [1]

(f)
Explosives or dye-making [1]
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